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General Instructions :

100/1

(i)  This question paper consists of four Sections A, B, C and D. Section A contains 7
questions of 1 mark each. Section B is of 8 questions of 2 marks each. Section C is
of 9 questions of 3 marks each and Section D is of 4 questions of 5 marks each.

(ii) All questions are compulsory.

(iii) There is no overall choice. However, an internal choice has been provided in one
question of 2 marks, one question of 3 marks and all the four questions of 5 marks
weightage. Attempt only one of the choices in such questions.

(iv) Question numbers 1 to 7 are to be answered in one word or one sentence each.
(v)  Question numbers 8 to 15 are to be answered in approximately 20 — 30 words each.

(vi) Question numbers 16 to 24 are to be answered in approximately 30 — 50 words
each.

(vii) Question numbers 25 to 28 are to be answered in approximately 80 — 120 words
each.

(viii) Where only diagrams are asked word limit does not apply.

T[US - 1x7=17
SECTION - A

ToamE-aRamT i SR Aol Teh TS 1 919 JdRy |

Name the event which showcases wedding wear.

TToh i HUS I Ieldl AT AT TN ST ¢ 2

Why is pattern placed on the wrong side of the fabric ?

Toefor 31eg ot g ST |

Define the term ‘Mitering’.

i T SAH 9, fUoel 9T ot STUeT SATET Tl w41 Bl € 2

Why is front armhole deeper than the back armhole ?

T TR , G667 §RT ST bl hd STeT ST o 2

How was Ushnisha tied by men around the head in Ancient India ?



6. R UM % G H T AL ST & TR g o I 6l g a7 AT § 2

What is added to a two-piece suit that makes it a three piece-suit ?

7. &2 % A 9 FeUS! % AT & A9 Y 6l Iq2U |

Give the relation of the size of the button with the size of the placket.

QU - 2x8=16
SECTION - B

8. Tl HEM T SR WEmerd (ST 7R 3 STk i o 2

Who invented the first synthetic dye and automatic ginning machine ?

9. FHOY TE Pl THCANLE TG b A G O T AR ST 7 2 U R S a5’ & A
AT |
ATAT
FF T [T TBR hl TEIHMT HFIT i S & 3 7 2

Why are synthetic fabrics also called as thermoplastic fabrics ? Name any two such
fabrics.

OR

What kind of interfacing is used in cuffs and why ?

10. @l 3R GET HUS H TR HIT |
Differentiate between Khaki and Khadi fabrics.

11. fefefad % fore wam o aret foe i
() STl
@) weAwy
m A"
= TR
Give the symbols used for the following :
(a) Box-pleat
(b) Button-hole
(c) Notches
(d) Gathering
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“yor fove IF % U, TET 3Taqed T 3T, T ol JHT I U8l |7 HRUT ST |

“During World War 1, the role of women was affected by currency devaluation.” Give
reasons.

TS o7 ol TR SHITT | TR & 7T 3 o1 ST & 2

Define fitting ease. Why is it mandatory in garments ?

ToFT 578 B S/ ol TSTEe! S & o0, TeUet i 6 a8 i SR o TG AT =y 31
T 2

What kind of facing should be used by Dimple for giving a decorative finish to the
sleeveless dress and why ?

1929 % “ATeT T Sh3T° T HUST SN TR FT TS T 2

What was the impact of wall street crash of 1929 on clothing industry ?

e -q 3x9=27
SECTION - C

“RA TEA STeal, Tk heM 5 o €9 H W W@ & 1 37 a1 & W17 § HROT Ty |

“India is fast emerging as a fashion centre.” Support the statement with reasons.

TR § T 3Te8! He9rd o diF 0T Sl e g HIT |

Briefly describe the three qualities of a well-fitted crotch in garments.

3T Yo W TR@T fohd TR & Wil 37K

(3) TS B Y T W HEATE |

@) T HI I T I FIeAT & |

@) T B (RS a] WHET e |

How will you draw the grainline on the pattern if :
(a) Garment is to be cut on straight grain.

(b) Garment is to be cut on cross-wise grain.

(c) Garment is to be cut on bias-grain.
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Isham faced the following problems while trying the fit of a readymade dress. Give
the cause for these problems :

(1)  Garment rides up in front
(i1)) Horizontal wrinkles around the arm
(iii) Bubble at the dart tip
(iv) Armscye is snug and uncomfortable
(v)  Wrinkles emanating upwards in crotch area.
(vi) Neck looks large
OR

How will you ensure that the shoulders are smooth and comfortable in a garment ?

20. ‘SATSST I i GRHTHT SISTT | 8 soAISsT H fai=Idr ol Icq~ &< Gohd & ? & IS0l
T |

Define the term ‘Blouse’. How can we create variations in Blouses ? Give two
examples.

21. UREMT S ST THT ST & 2 Ghie § g - HRoT §ang |

When is garment considered out of balance ? Briefly explain any three reasons.

22, “WHURE TR 5 TEU & TR i Tearess wfad fFan & 1”7 57 2 gt samen Sy |

“Corporate culture has greatly influenced men’s wears.” How ? Explain briefly.

23. oM, fHAMT 3T 9e-39-%Ale § 3] 9areu |

Differentiate between Raglan, Kimono and Set-in-sleeves.
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o oo M
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(@) She-eTuE

(M) 3FETeT

Elaborate the following terms :

(a) Mercerized cotton
(b) French-placket

(¢) Underlining

gug - 4x5=20

SECTION -D

‘g I I A Jd AT H=Arst 3 THIS o A4 [ & die g a1 17 39 e
1 AT FHIT |

cC)
IRATT IR 3t 7% Sl 1 Ju HifsT |

“The upheavals caused by the war created a gap between previously prevalent
traditions and new developments in society.” Explain.

OR

What were the broad categories of Indian garments ? Explain.

Y I TS I HAY I RFFANT B i i &1 qh o AHitesd sl §RT a0+ & |
AT

ferst ST US|

Explain the method of shifting shoulder dart to waist with neat labelled diagrams.
OR

Explain the steps of converting one-dart bodice-block into princess line bodice-block
with neat labelled diagram.
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HUS T @b ! fas™ ot fafyr =t foeaq) & 5ard |
3AT

Ht §E RGN ! T H o [T [ohT TRE Sl BT BT WA AT ST & 2 39 FHT B
o fafT=1 =0T 1 el |ied Tmem |
Elaborate on the procedure of pattern layout.

OR

What kind of facing is used to finish the slash neckline ? Explain the steps of finishing
it with diagrams.

TR & IR | 59 O & T, HUST 3R G 1 UG {620 STTar & 2 9017 Hiteg |
AT
(3 FA-HET TIH EHE - IR | =R 9T ST |
(@) ST HIF ST % A F T % Al BROTS |
What kind of colour, fabric and patterns are used for women’s wear ? Explain.
OR

(a) State the differences between Haute-Couture and Hi-fashion Ready to wear
apparel.

(b) Give three reasons for the growth of Japanese Fashion industry at a fast pace.
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